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Question 1 – Mass moment of inertia

For a uniform slender rod of mass 𝑚 and a total length of 𝑙, 
determine its mass moment of inertia about an axis 𝑥, 
which passes through its centre of gravity 𝐺, and the mass 
moment of inertia about the axis 𝑥′.
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Question 2 – Mass moment of inertia

For a composite pendulum made of a uniform
slender rod (12 kg) and a uniform disk (8 kg),
determine its mass moment of inertia about 𝑥 axis
that passes through its centre of gravity, as well as
the radius of gyration about the 𝑥 axis.
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